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FH 7 F 1015.3 15.6 20.0 1.5 67 6.5 2.0 1 .028.0
8 1015.5 15.6 20.1 11.5 67 6.6 2.7 1007.0
9 1015.2 16.1 20.6 12.0 65 6.4 3.0 10475
10 1015.4 17.3 21.4 13.5 67 7.1 3.0 12610
11 1014.9 16.5 21.0 12.5 66 6.7 3.3 957.5
11414 1019.1 5.3 9.9) 1.3 62 5.2 3.7) 15.5
2 1019.7 5.3 10.2 0.9 64 5.2 3.5 42.0
3 1016.7 9.8 14.0 5.7 65 7.5 3.3 75.5
4 10141 14.3 19.0 9.7 62 6.4 3.7 59.5
"5 1011.4 20.2 25.9 15.0 57 6.4 3.5 130.5
6 1.009.1 23.1 27.2 19.6 71 8.3 2.9 268.5
7 1 007.8 26.2 30. 1 23.1 70 8.5 3.2 122.0
8 1.008.9 28.2 32.4 25.1 69 7.7 3.7 31.5
9 1011.7 26.4 30.3 23.1 72 7.9 3.0 112.5
10 1017.9 19.1 23.6 14.9 65 6.4 2.6 47.5
11 1019.5 12.7 17.2 8.7 67 6.0 2.8 50.5
12 1022.4 7.0 11.8 2.7 63 4.7 3.3 2.0
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(hPa) T | BETEY | BIEEY (%) (1) (n/s) (mm)
TRk 7 E 1.015.3 13.0 18.8 8.4 79 7.2 1.5 1 347.5
8 1015.7 13.1 19.0 8.4 78 7.2 1.5 1127.0
9 1015.4 13.6 19.4 8.8 78 6.9 1.5 1549.0
10 1015.7 14.9 20.4 10.4 79 7.5 1.5 1584.5
11 1 015.2 14.0 19.7 9.5 78 7.3 1.6 1 489.0
L141A 1019.2 2.6 8.5 A 1.7 78 6.4 1.6 21.0
2 1019.9 2.2 8.2 A 2.3 79 6.9 1.5 65.5
3 1.017.1 7.9 13.3 3.0 74 7.8 1.7 129.5
4 1014.4 12.2 18.3 6.5 71 6.9 1.7 105.0
5 1011.7 17.5 24.9 1.1 69 6.3 1.6) 203.5
6 1 009.3 21.1 26.0 16.9 80 8.3 1.5 319.0
7 1.008.0 24.4 29.1 20.7 79 8.5 1.9 142.5
8 1 009.2 26. 1 31.2 22.6 79 7.7 2.0 53.5
9 1012.0 23.9 29.0 20.4 84 8.2 1.4 319.5
10 1018.4 16.3 22.2 11.4 79 6.7 1.3) 59.0
11 1.020.0 9.9 15.9 5.3 82 7.3 1.2 56. 5
12 1022.7 4.1 0.1 & 0.4 81 6.7 1.3 14.5
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& B [AREG%) (gor.ﬁsmm) = % & (ilof/ts) S
2 061.9 47 88 20 2 13 5 35 7
2 043.5) 46) 100 19 9 1 28 ! 8
2 156.1 49 100 16 1" 14 67 3 9
1 893.5 43 115 5 9 12 30 2| 10
1 980.5 45 89 13 9 9 57 4| 11
180.4 58 4 4 3 - 10) -l 18
164.0 54 5 - - 8 | 2
134.0 36 1" 2 2 - 5 i
167.4 13 - - . 6 N
241.4 56 4 - | - 6 -l s
140.1 3 1" ; - - 3 B S
152.8 35 6 . | 1 2 2| 7
175.5 2 10 - B 4 5 1| s
135.5 36 13 = ! 3 2 B
172.7 49 7 = - 1 1 1l 10
143.6 16 7 - 1 - 3 o
173.1 57 2 2 - - 6 Y
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1693.3 38 130 44 22 7 - 19 7
1 753.7 39 121 41 40 " 1 1 8
1 815.7 4 137 31 38 10 I 3 9
1 603.0 36 133 15 39 7 - 2 10

1 758.6) 40) 113 26 38 9 2 2 11
142.1 46 6 10 6 - - 1H
125.6 41 10 9 7 - - - 2
137.6 37 13 1 2 - - 1 3
163.1 42 10 - - - 0) 1 4
227.2) 54) 9 - - 2 0) - 5
136.3 31 12 - 1 - - - 6
161.6 37 8 - - - - - 7
144.8 35 10 - - 2 1 - 8
106.7 29 13 - 1 5 1 - 9
159.9 46 9 - 4 - 0) - 10
124.3 40 7 - 6 - - - 11
129.4 43 6 6 N - 0) - 12




